
DESCRIPTIONID PART QTY REF.

Ref.: 8932

Screen

15 min1 person

Nº 3
Nº 4

ALLEN

Ø5 Silicon sticker

Ø4,5xØ11x2mm Rubber Washer

M5 ISO 7380 Allen screw cap

M5x10 ISO 7380 Allen Screw

M5x0,5 nylon washer

M5x16 ISO 7380 Allen Screw

M5 Silentblock

M6x35 DIN 7991 Allen Screw

Metal arrowhead Øinner8 x Øoutter 13 x 7mm

Metal support with inserted nut 

1 8932A/F/H/N/WM3

1 ADHESI-GT-D8---

1

4

ARAND-EPDM--722

TAPON________85

1 TORNI-AI----520

3 ARV00000000245

2 TORNI-I7380-493

2 SILENTBTM5-046/1

2 TORNI-D7991-628

2 CASQUI8147-0193

1 SOPOR-1P-1-8932

1

10

9

11

8

7

6

5

4

3

2

 Easy

MMediia-Innnteeermmmediate

 WINDSHIELD FOR 

YAMAHA MT-03

Pg. 1/2

DDDiffifificcuuullt

https://www.motorcycleid.com/puig/


 MOUNTING INSTRUCTIONS 

WINDSHIELD FOR 

YAMAHA MT-03

3 4

1 2
DISASSEMBLY ASSEMBLY

ASSEMBLY ASSEMBLY

Pg. 2/2

5
5

4

6
11

7

1

7

6
11

7
8

11

7 9

8

4

2

3

10

3

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

